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; 100kN/mM#Z#B% % — -~ - —|3mZEEZB| — ~ — — — | 100kN/mM%# %3 — -~ — —|3mZE#BZ % -~ — — —
znLst 1.00 |1 0.00 ~ 6.75 85.36 | =hs | 000 ~ 0.00| 1.69 9.05 ZznLst 1.00 | 5.00 ~ 8.30 85.36 | =N | 5,00 ~ 830 1.69 9.05
P 100kN/mM#Z#B% % — -~ - —|3mZEEZB| — ~ — — — | 100kN/m%# %3 — -~ — —|3mZE#BZ % -~ — — —
znLs 1.00 | 0.00 ~ 7.44 94.96 | =S | 000 ~ 744|173 9.29 Zhn s 1.00 | 5.00 ~ 9.70 94.96 | =N | 5,00 ~ 9.70]1.73 9.29
3 100kN/m#%i#B2% | 1.00 | 000 ~ 066 109.80 |3mEBZB| — ~ — — — | 100kN/m%Z#BZ25 | 1.00 | 1069 ~ 1270 109.80 |3mZE#BZ3 -~ - - -
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